

Alois Švec

On the Pick invariant

*Czechoslovak Mathematical Journal*, Vol. 38 (1988), No. 3, 493–497

Persistent URL: <http://dml.cz/dmlcz/102246>

## Terms of use:

© Institute of Mathematics AS CR, 1988

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON THE PICK INVARIANT

ALOIS ŠVEC, Brno

(Received June 12, 1986)

In [4], I have shown that the bounded elliptic surfaces  $M$  in the equiaffine 3-space satisfying the relation  $\Phi(H, K) = 0$  with  $\Phi_H^2 + 4H\Phi_H\Phi_K + 4K\Phi_K^2 > 0$  and umbilical boundary are affine spheres. Here, I am going to study analogous problems.

1. Let  $M \subset A^3$  be an elliptic surface in the equiaffine 3-dimensional space. With each point  $m \in M$ , let us associate a frame  $\{m; v_1, v_2, v_3\}$ ; we have the fundamental equations

$$(1) \quad dm = \omega^1 v_1 + \omega^2 v_2, \quad dv_i = \omega_i^j v_j$$

with  $\omega_1^1 + \omega_2^2 + \omega_3^3 = 0$  and the usual integrability conditions. It is possible, see [4], to choose the frames in such a way that

$$(2) \quad \omega_1^3 = \omega^1, \quad \omega_2^3 = \omega^2;$$

$$(3) \quad \omega_1^1 = -\frac{1}{2}c\omega^1 + \frac{1}{2}b\omega^2, \quad \omega_2^2 = \frac{1}{2}c\omega^1 - \frac{1}{2}b\omega^2, \quad \omega_3^3 = 0, \\ \omega_1^2 + \omega_2^1 = b\omega^1 + c\omega^2.$$

The form  $\omega$  being defined by

$$(4) \quad \omega := \frac{1}{2}(\omega_1^2 - \omega_2^1),$$

we have

$$(5) \quad \omega_1^2 = \frac{1}{2}b\omega^1 + \frac{1}{2}c\omega^2 + \omega, \quad \omega_2^1 = \frac{1}{2}b\omega^1 + \frac{1}{2}c\omega^2 - \omega$$

and

$$(6) \quad d\omega^1 = -\omega^2 \wedge \omega, \quad d\omega^2 = \omega^1 \wedge \omega.$$

The integrability conditions of (3) are

$$(7) \quad (dc + 3b\omega - 2\omega_3^1) \wedge \omega^1 - (db - 3c\omega) \wedge \omega^2 = 0, \\ (dc + 3b\omega) \wedge \omega^1 - (db - 3c\omega - 2\omega_3^2) \wedge \omega^2 = 0, \\ (db - 3c\omega + \omega_3^2) \wedge \omega^1 + (dc + 3b\omega + \omega_3^1) \wedge \omega^2 = 0.$$

From (7<sub>1,2</sub>),  $\omega_3^1 \wedge \omega^1 + \omega_3^2 \wedge \omega^2 = 0$  follows, and we get the existence of functions  $\alpha, \beta, \gamma$  such that

$$(8) \quad \omega_3^1 = \alpha\omega^1 + \beta\omega^2, \quad \omega_3^2 = \beta\omega^1 + \gamma\omega^2.$$

We get the following invariant forms (see [3]): the *metric form*

$$(9) \quad ds^2 = (\omega^1)^2 + (\omega^2)^2,$$

and the form of the lines of the affine curvature

$$(10) \quad \mathcal{C} = \beta(\omega^1)^2 + (\alpha - \gamma)\omega^1\omega^2 - \beta(\omega^2)^2.$$

Further, we consider the following invariants

$$(11) \quad J = \frac{1}{2}(b^2 + c^2), \quad H = -\frac{1}{2}(\alpha + \gamma), \quad K = \alpha\gamma - \beta^2, \quad \varkappa = J + H,$$

i.e., the *Pick invariant*, the *mean* and *affine curvature* and the *Gauss curvature* resp.

**Theorem 1.** *Let  $M \subset A^3$  be an elliptic real analytic surface which is a bounded simply connected domain. Let  $D \subset \mathbb{R}^2$  be a domain such that, for each  $m \in M$ ,  $(H(m), K(m)) \in D$ . On  $D$ , let a real analytic function  $F(u, v)$  be given such that*

$$(12) \quad \left(\frac{\partial F}{\partial u}\right)^2 + 4u \frac{\partial F}{\partial u} \frac{\partial F}{\partial v} + 4v \left(\frac{\partial F}{\partial v}\right)^2 > 0 \quad \text{in } D.$$

Let us suppose: (i) We have

$$(13) \quad J(m) = F(H(m), K(m)) \quad \text{for each } m \in M.$$

(ii) There is an arc  $\gamma \subset M$  such that

$$(14) \quad J(m) = 0, \quad \mathcal{C}(m) \equiv 0 \quad \text{for each } m \in \gamma.$$

Then  $M$  is a part of an elliptic quadratic surface.

*Proof.* We may substitute (8) into (7) and differentiate (8); we get

$$(15) \quad \begin{aligned} (dc + 3b\omega) \wedge \omega^1 - (db - 3c\omega) \wedge \omega^2 &= -2\beta\omega^1 \wedge \omega^2, \\ (db - 3c\omega) \wedge \omega^1 + (dc + 3b\omega) \wedge \omega^2 &= (\gamma - \alpha)\omega^1 \wedge \omega^2, \\ (d\alpha - 2\beta\omega) \wedge \omega^1 + (d\beta + (\alpha - \gamma)\omega) \wedge \omega^2 &= \left\{\frac{1}{2}b(\alpha - \gamma) + c\beta\right\}\omega^1 \wedge \omega^2, \\ (d\beta + (\alpha - \gamma)\omega) \wedge \omega^1 + (d\gamma + 2\beta\omega) \wedge \omega^2 &= \left\{\frac{1}{2}c(\alpha - \gamma) - b\beta\right\}\omega^1 \wedge \omega^2. \end{aligned}$$

Thus there are functions  $b_1, \dots, \gamma_2$  such that

$$(16) \quad \begin{aligned} db - 3c\omega &= b_1\omega^1 + b_2\omega^2, \quad dc + 3b\omega = c_1\omega^1 + c_2\omega^2; \\ d\alpha - 2\beta\omega &= \alpha_1\omega^1 + \alpha_2\omega^2, \quad d\beta + (\alpha - \gamma)\omega = \beta_1\omega^1 + \beta_2\omega^2, \\ d\gamma + 2\beta\omega &= \gamma_1\omega^1 + \gamma_2\omega^2 \end{aligned}$$

with

$$(17) \quad \begin{aligned} b_1 + c_2 &= 2\beta, \quad c_1 - b_2 = \gamma - \alpha; \\ \beta_1 - \alpha_2 &= \frac{1}{2}b(\alpha - \gamma) + c\beta, \quad \gamma_1 - \beta_2 = \frac{1}{2}c(\alpha - \gamma) - b\beta. \end{aligned}$$

On  $M$ , introduce coordinates  $(x, y)$  such that

$$(18) \quad \omega^1 = r dx, \quad \omega^2 = r dy; \quad r = r(x, y) > 0.$$

Then, from (6),

$$(19) \quad \omega = -r^{-1}r_y dx + r^{-1}r_x dy;$$

here,  $r_x = \partial r(x, y)/\partial x$ , etc. Substituting into (16), we get

$$(20) \quad \begin{aligned} rb_1 &= b_x + 3r^{-1}r_y c, & rb_2 &= b_y - 3r^{-1}r_x c, & rc_1 &= c_x - 3r^{-1}r_y b, \\ & & & & rc_2 &= c_y + 3r^{-1}r_x b; \\ r\alpha_1 &= \alpha_x + 2r^{-1}r_y \beta, & r\alpha_2 &= \alpha_y - 2r^{-1}r_x \beta, \\ r\beta_1 &= \beta_x - r^{-1}r_y(\alpha - \gamma), & r\beta_2 &= \beta_y + r^{-1}r_x(\alpha - \gamma), \\ r\gamma_1 &= \gamma_x - 2r^{-1}r_y \beta, & r\gamma_2 &= \gamma_y + 2r^{-1}r_x \beta. \end{aligned}$$

The conditions (17) may be rewritten as

$$(21) \quad \begin{aligned} b_x + c_y + 3r^{-1}r_x b + 3r^{-1}r_y c &= 2r\beta, \\ c_x - b_y - 3r^{-1}r_y b + 3r^{-1}r_x c &= r(\gamma - \alpha); \end{aligned}$$

$$(22) \quad \begin{aligned} \beta_x - \alpha_y - r^{-1}r_y(\alpha - \gamma) + 2r^{-1}r_x \beta &= \frac{1}{2}rb(\alpha - \gamma) + rc\beta, \\ \gamma_x - \beta_y - 2r^{-1}r_y \beta - r^{-1}r_x(\alpha - \gamma) &= \frac{1}{2}rc(\alpha - \gamma) - rb\beta. \end{aligned}$$

The supposition (13) reads

$$(23) \quad \frac{1}{2}(b^2 + c^2) = F(-\frac{1}{2}(\alpha + \gamma), \alpha\gamma - \beta^2)$$

with the differential consequences

$$(24) \quad \begin{aligned} 2bb_x + 2cc_x + (F_u - 2\gamma F_v)\alpha_x + (F_u - 2\alpha F_v)\gamma_x + 4\beta F_v \beta_x &= 0, \\ 2bb_y + 2cc_y + (F_u - 2\gamma F_v)\alpha_y + (F_u - 2\alpha F_v)\gamma_y + 4\beta F_v \beta_y &= 0. \end{aligned}$$

Let us use the following notation:  $A \equiv B$  means  $A = B +$  linear combination of  $b, c, \alpha - \gamma, \beta$ . Then, using (22), (24) may be rewritten as

$$(25) \quad \begin{aligned} 2bb_x + 2cc_x + (F_u - 2\gamma F_v)(\alpha - \gamma)_x + \\ + 2(F_u - (\alpha + \gamma)F_v)\beta_y + 4\beta F_v \beta_x &\equiv 0, \\ 2bb_y + 2cc_y - (F_u - 2\alpha F_v)(\alpha - \gamma)_y + \\ + 2(F_u - (\alpha + \gamma)F_v)\beta_x + 4\beta F_v \beta_y &\equiv 0. \end{aligned}$$

Consider the  $\mathbb{R}^4$ -valued function

$$(26) \quad u = (b, c, \alpha - \gamma, \beta)^T;$$

we get, from (21) and (25),

$$(27) \quad Au_x + Bu_y + Cu = 0$$

with

$$(28) \quad A = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 2b & 2c & F_u - 2\gamma F_v & 4\beta F_v \\ 0 & 0 & 0 & 2(F_u - (\alpha + \gamma)F_v) \end{pmatrix},$$

$$B = \begin{pmatrix} 0 & 1 & 0 & 0 \\ -1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 2(F_u - (\alpha + \gamma)F_v) \\ 2b & 2c & -(F_u - 2\alpha F_v) & 4\beta F_v \end{pmatrix}.$$

The symbol of the system (27) is defined as

$$(29) \quad \sigma(\xi, \eta) = A\xi + B\eta; \quad (\xi, \eta) \in \mathbb{R}^2.$$

It is easy to see that

$$(30) \quad \det \sigma(\xi, \eta) = 2(F_u + 2HF_v)(\xi^2 + \eta^2) \Phi(\xi, \eta) \quad \text{with} \\ \Phi(\xi, \eta) = (F_u - 2\gamma F_v) \xi^2 + 4\beta F_v \xi \eta + (F_u - 2\alpha F_v) \eta^2.$$

The discriminant  $\Delta$  of the form  $\Phi(\xi, \eta)$  being equal to  $F_u^2 + 4HF_uF_v + 4KF_v^2$ , the supposition (12) implies that  $\Phi(\xi, \eta)$  is definite. Further,  $F_u + 2HF_v \neq 0$ . Indeed,  $F_u = -2HF_v$  implies  $\Delta = -4(H^2 - K)F_v^2 \leq 0$ , a contradiction to (12). Thus the symbol  $\sigma(\xi, \eta)$  is an invertible matrix for each real pair  $(\xi, \eta) \neq (0, 0)$ , and the system (27) is elliptic; see [6], p. 76. Now, let us apply Theorem 5.4.1 of [6] which claims that the zeros of any non-trivial solution of an elliptic system with real analytic coefficients are isolated and of finite order. This provides the uniqueness of the Cauchy problem, and we have  $u = 0$  on  $M$ . But this means  $J = 0$  on  $M$ , and we are finished.

**Remark.** For  $F(u, v) = -u + \text{const.}$ , the condition (13) turns out to be  $\kappa = \text{const.}$ , and we get a version of the  $\kappa$ -Theorem; compare with [2] and [3].

2. The affine normals of a surface in the equiaffine 3-space  $A^3$  coincide with its projective normals if and only if the Pick invariant  $J$  of the surface is constant; see [1], p. 111. In this connection, I am going to prove the following

**Theorem 2.** *The only compact elliptic surfaces  $M \subset A^3$  without boundary with equal affine and projective normals are the ellipsoids.*

*Proof.* Let  $(M, ds^2 = \delta_{ij}\omega^i\omega^j)$  be a Riemannian manifold,  $F_{ijk}$  a tensor on  $M$ ,  $F_{ijk;l}$  its covariant derivatives with respect to the coframes  $\{\omega^i\}$ . Let the 1-form  $\varphi$  on  $M$  be defined by

$$(31) \quad \varphi = \delta^{i_1j_1}\delta^{i_2j_2}\delta^{k_1l_1}(F_{i_1i_2i_1}F_{j_1j_2k;l} - F_{i_1i_2k}F_{j_1j_2i;l})\omega^i.$$

Theorem 1.1 of [5] says that the form  $d * \varphi$  does not contain the second covariant derivatives of  $F_{ijk}$ .

Let us apply this result to the invariant form (see [4])

$$(32) \quad F \equiv F_{ijk}\omega^i\omega^j\omega^k := -2\mathcal{A} = c(\omega^1)^3 - 3b(\omega^1)^2\omega^2 - 3c\omega^1(\omega^2)^2 + b(\omega^2)^3.$$

The covariant derivatives  $F_{ijk;l}$  being defined by

$$(33) \quad dF_{ijk} - F_{rjk}\varphi_i^r - F_{irk}\varphi_j^r - F_{ijr}\varphi_k^r = F_{ijk;l}\omega^l; \\ \varphi_1^2 = -\varphi_2^1 := \omega, \quad \varphi_1^1 = \varphi_2^2 = 0;$$

we get, from (16<sub>1,2</sub>),

$$(34) \quad F_{111;l} = c_1, \quad F_{111;2} = c_2, \quad F_{112;l} = -b_1, \quad F_{112;2} = -b_2, \\ F_{122;l} = -c_1, \quad F_{122;2} = -c_2, \quad F_{222;l} = b_1, \quad F_{222;2} = b_2.$$

The exterior differentiation of (16<sub>1,2</sub>) yields

$$(35) \quad \{db_1 - (b_2 + 3c_1)\omega\} \wedge \omega^1 + \{db_2 + (b_1 - 3c_2)\omega\} \wedge \omega^2 = 3\kappa c \omega^1 \wedge \omega^2, \\ \{dc_1 - (c_2 - 3b_1)\omega\} \wedge \omega^1 + \{dc_2 + (c_1 + 3b_2)\omega\} \wedge \omega^2 = -3\kappa b \omega^1 \wedge \omega^2,$$

and we get the existence of functions  $b_{11}, \dots, c_{22}$  such that

$$(36) \quad db_1 - (b_2 + 3c_1)\omega = b_{11}\omega^1 + b_{12}\omega^2, \\ db_2 + (b_1 - 3c_2)\omega = b_{21}\omega^1 + b_{22}\omega^2, \\ dc_1 - (c_2 - 3b_1)\omega = c_{11}\omega^1 + c_{12}\omega^2, \\ dc_2 + (c_1 + 3b_2)\omega = c_{21}\omega^1 + c_{22}\omega^2; \\ (37) \quad b_{21} - b_{12} = 3\kappa c, \quad c_{21} - c_{12} = -3\kappa b.$$

Considering the form (31), we have

$$(38) \quad \psi := -\frac{1}{4} * \varphi = (cb_1 - bc_1)\omega^1 + (cb_2 - bc_2)\omega^2$$

and

$$(39) \quad d\psi = 2(b_2c_1 - b_1c_2 + 3\kappa J)\omega^1 \wedge \omega^2.$$

Now, let us suppose  $J = \text{const.} > 0$ . From (11<sub>1</sub>) and (16<sub>1,2</sub>),  $bb_1 + cc_1 = bb_2 + cc_2 = 0$ , which implies  $b_2c_1 - b_1c_2 = 0$ . Thus

$$(40) \quad 0 = \int_{\partial M} \psi = \int_M d\psi = 6J \int_M \kappa \omega^1 \wedge \omega^2,$$

i.e.,  $\int_M \kappa \omega^1 \wedge \omega^2 = 0$ . This means  $\chi(M) = 0$ , and  $M$  should be a torus. But this is impossible because of the ellipticity of  $M$ . Thus  $J = 0$  on  $M$ , and we are finished.

#### References

- [1] G. Bol: Projektive Differentialgeometrie, 2. Teil. Vandenhoeck-Ruprecht, 1954.
- [2] M. Kozłowski, U. Simon: Hyperflächen mit äquiaffiner Einsteinmetrik. Preprint TU Berlin, No. 136/1985.
- [3] U. Simon: Hypersurfaces in equiaffine differential geometry and eigenvalue problems. Preprint TU Berlin, No. 122/1984.
- [4] A. Švec: On equiaffine Weingarten surfaces. Czechoslovak Math. Journal, 37 (112) 1987, 567–572.
- [5] A. Švec, M. Afwat: Global differential geometry of hypersurfaces. Rozprawy ČSAV, 1978.
- [6] W. L. Wendland: Elliptic systems in the plane. Pitman, 1979.

*Author's address:* Přehradní 10, 635 00 Brno, Czechoslovakia.